1964 ] ON THE GENERAL TERMS OF A RECURSIVE SEQUENCE

Multiplying equation (4) on the left by vgl, we have
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Hence the general term is given by
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Fn) = - 35 (-2) + 35 (1) + 1) - 753 @) + 355 3y .

CORRECTIONS FOR VOLUME 1, NO. 2

Page 4: Equation (2.8) should read
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Page 23: The fifth line up from the bottom should read:

S o]

(?) FEPTRT Ry o Z A x"FPLP
n nn

_pP
(a-b) §

e0* (7)

foTe

n=0

Dy=0,D;=x+y, Dy=(x+y)? .

Page 30: In Line 10, replace m(un+1 -1) by m ’ (um_1 -1)

Page 33: The = signs in lines 10 and 11 should be replaced by = signs.

Page 37: The first line of the title should end in a lower case "m. "
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